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Chapter 12 Homework Answers

m =9.00 g

m,=525¢g

m,=490 g

177 kg

F =|294kN
1-}: 441KkN

I IR X 0
f=n_= Emg«l— 7 m,g |cot

n, = (mI +m:)g

| (m, 12+md/L)coto

ml +n12

mg

—=cot @
2

T=pumg|

U =coté/2 |

23)

24b)

24c)

24d)

25)

45a)

45b)

49a)
49b)

49c¢)

51a)

51b)

51¢)

28l m

218 N

72.4 N

241 m

T =501 N

T,

612N ]| T,

F(L+d)
sin@ (2L +d)

F (L+d)cot6

* 2L+

d

5.08x10° N

4.77x10° N

8.26x10° N

2

m| 2u_sin@— cos@
cosf — 1 _sin6

(M +m) g1+’

F,L
2L+d

g\/M2 + 12 (M +m)’

384 N




